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The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

PART—A : Introductory Microeconomics

Q. No. 1 carries I mark each : 1x6= 6
Q. No. 2 carries 2 marks each : 2x6 = 12
Q. Nos. 3-6 carry 4 marks each : 4x4 = 16
Q. No. 7 carries 6 marks ; =. B
PART—B : Statistics for Economics

Q. No. 8 carries I mark each : 1x6 = 6
Q. No. 9 carries 2 marks each : © ox6 = 12
Q. Nos. 10-13 carry 4 marks each : 4x4 = 16
Q. No. 14 carries 6 marks K - 6

Total = 80
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PART—A
Ren—=
Re—s
qETT—h
( Introductory Microeconomics )
(TRAM wRwmg «Re7 )
(R v #if o )
( ore’ <raTRr Fafrmi Rt )

1. Answer the following as directed :
CLCRESIEE BTG ISR R T I
RotrE® FafFResfa Teg me :

TEEE THEERA a8

(@)

(b)

(c)

/426

Define utility.
Tercifarerg ke fuw |
AT ] IS |
eI g 8|
What is budget line?
w6 I 2

SO R 2

CICE TR C e R K

Draw a perfectly elastic demand curve.
aore o feferr vfEm @ =i 74 |

9 7o Rferers wifm e o e |

< IS AEEIETE A T g |

1x6=6
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(d) State the law of supply.

(e)

Qs=R Rigeo Seay +1 )

qaeaR [RiE% Say T |
SRS @rE 1@’ |

TC = TVC +
( Fill in the blank )

( AR BT [T
( *FrER @9 T )
( SR S 3 @A )
What is meant by equilibrium price?
SR 71 e R g 2 |
SRET TR FENCe F Q@R ?

TR 987 getee 71 giman?

2. Answer the following questions : 2x6=12
Toq PR B fi
fafiRe erafr Teg ms .
A AHEERE A 8

(a) Write two differences between micro- and macro-

/426

economics. 2
MM o AN ST T Gor ol o
B q3R STBIM WA Wy 7o AL e
g’ T AR YR TEAf ToRE aHE A SR fer)
Or / 531/ &[T/ Tl

State two characteristics of production possibility
curve.

e SISl (I B! CAfTE) SEy F
TeeAT IR (R i TRy SrEd FCA |
fegomg st den @ WY gy TE |
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(b) Define : 1+1=2
sie
TR 78
ﬁ‘iﬁ?ﬁﬂ'ﬂ 7
() Microeconomics (i) Opportunity cost
e WA SIS I
EHESIG ALK I SIS W
og T | @I @@

Or / 91 / "</ T

Write any two central problems facing an economy. 2
GG G TR @ R @A 1 @2 0 o3 |

G5 SR T 28 @ @FIA 46 & STPW el |
T Y@ Jm-Aif SHAE SERasEn B9 7T SH R |

(c) State the law of diminishing marginal utility. 2
FAEPHF 2 Sercariarer RiFee Sy 41
FRPF 2ife Sercairer RiEh Sa Fn
TR 33RA stemE @ 7E |
Or / 931 / §%<[1/ Tl

A 20% fall in the price of a commodity leads to 25%
increase in demand. Calculate the price elasticity of

demand.

¥ B WY 20% JCT WR B 25% I I | BRI W™
efegrerEer stom 41 |

43 T 7T 20% ZFT G303 Bz 25% & Fea | B ™
BfSgeFel oM I |

Jae AFRR W 20% TiFEE A FErd 25% s aEh
S0 SEEAEE! aE g |
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(d) Define production function. Write one feature of it.
14.1=0

AT Forwd g Tl | 2w @Br Gy o

TRAM FoCTE RS WS | 97 41> AR ol |

.ﬁymm(@mﬁ)ﬁmﬁléﬁm@fwmﬁu
Or / |11 / 51T / T&r

Write two differences between fixed cost and variable
cost. 2

&9 I o <TG 3793 AEF GBI <N B |
f&q 9 R ~ARTETN JEF Teg 7S #1FT @n |
o T R Hieaeg WA TSR HiA R for)

(e) Define monopoly market. State one feature of it.

1+1=2
GO IWES AR T | ZHR @by Gy Seay w4
GFCOHH ISR FW 718 | 97 G AT Ty A |
TR A9 Uil geeTE @ 2 TR ergun 7@’ |
Or / [T / SI3T / Tl
Write two assumptions of perfect competition. 2

o eifScaTfarerysie IweT YO SEyRe for |

o aifScafarergee Ireies 1o SRR @ |
1Y AT gTUEA WAA TeEAE for)
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(f/ Explain the chain of effects of excess supply on
equilibrium price.

ST NS 82[{S HSRE (F9HT R ST AP I |
S WA TR TSRS AR *[fers ofeReE I Tl |
TRI=uE S99F qaE 9™ sEaEt Al feme sea)

Or / 93 / |}[A / T&1

Distinguish between price ceiling and price floor.

7N T i W Ay YR qe| vy o
7o T a1 @32 I AR w0 N e |
S M R 3 e Rt wre for)

3. State and explain the law of demand with the help of a

demand schedule and a curve. 4
94 TR SPH W quE (@3N EEe v (KR Sy
BIEHEC N :
43 BT SPH @R 936 @R TRy viee RiEG Sy s ok
I AT
TR o wif o) <R G sraif deenaE farmt e 7@’ A
Erect

Or / Q31 / S{1 / Tl
Define price elasticity of demand. What are the methods of

measuring price elasticity of demand? 1+3=4

SR 71 RefmereeR )@ i | SiRwR w9 el (@R Aw TR
&0
vRvE W RfwrRerR dikw w6 | SiRwE W RiSgrrre MR s
I
R 309 AR gETE @ | R 387 e GAEE SR

o1 917
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4. Explain the law of variable proportion with the help of
diagram. 4

ﬁa@%wwﬁf@ﬁmaﬂﬂnw-n

A= Seeme RfEf Barz a=m T |
eIy HEguTsi @i et 9 d |

Or / 911 / 9_T / &t

Define AP and MP. Write two relationships between
AP and MP. 1+1+2=4

AP 5F MP3 gl | AP =1 MPJ 1ed Y51 5=+ fon |

AP @3t MPF 5@ W€ | AP @33 MPR Weg 4fb 7= 1ol |
AP 3t MP 1 §%iea™ g1 AP 3T MP 1 Ferfy o 9t foml

5. Discuss how the market supply curve is derived from the
individual supply curve. , 4

IfETe @ @I ¥ (@FEWE G @R @A S@¥Y IRE AR,
ST 91 |

JrETS @A @ (AT I IEE @ @ H=Z FACo A1,
HICAB I |

(RTTEAY) T e |
Or / &4l / ST/ &l

Explain any four determinants of the market supply of a
commodity.

T OB IR @SR R @i vifkor [Rd"e am 41
93 T AR @A @ @A SR == mm e |
a1 AR g STEAEE SEiasEn JEs Y e q@e)
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6. Explain ‘freedom of entry’ and ‘exit of firms’ features of
perfect competition. 4

o efSrairerE Wo‘mwm’w‘q@m’?
GBI T 9

of fSaienEe @A ‘AfPHSFR IO 4T 9R [T AF -9
CaPRsfer < e |
Y AEER FUEEE EE FHAEER 36 T S SiarAaty
ArgUTEd! dud |

Or / <1 / §{T / &1

With the help of demand and supply schedule, explain the
meaning of excess demand and its effect on price of a

commodity. - 3+1=4

oI WF Q@E PP TS WeRe tifitte WY WIe R TN B
w9 SOTS 71 ASR W I |

SRR R T PR RIS SRS FiRvE 9 qw) 99 96 AN
YRR T °R1 2SR I FCA! |

o SR B RenEE wEgE faEi i o IR sur
A SAf g EEE MREE! SQd|

7. What is an indifference curve? What are its main
properties? Explain. 2+4=6

fReers @ 2 TR agm RFEIR & 152 o 41 )

faers @9 7 @I Ay EFSslE 2 I FE
TR T g@IST 71?7 A MER SIRGUTTHR |1 77 S@4|

/426



BIKALI COLLEGE LIBRARY

(9)

Or / 331 / 3= / &1

What is consumer equilibrium? Explain consumer
equilibrium in case of a single commodlty with the help of
a utility schedule. : 1+5=6

TSI Sl fF 7 Wb TR CFae TSATSISR] SISl (Fd oS
1 =W, ST SR SRS W 41 |
TSGR SOl 17 GIH6 YER T TSGR SRAel e
FS T =, So[CTIa] S0 AW RN F¢A |
ST IRIGeTEE W7 A g S SRt TR ) A S
EIRRIE RN IERLIEICICACICEL

?ART——B

Ret—3

Re—x

ET—a
( Statistics for Economics )
(TreftRfe= =ifman ).
(Tl “ifemzam )
( tranfaf arama aays = iam )
8. Answer the following questions : 1x6=6
SO 2PPTYRY Bed
iR eryafem eg ws -
TR BHEGRE 5 8
(@) Who is known as the father of statistics?
RS RS~ Reawa Pre f3oeet s I/ 2

@ IS 0 R e= 2101 s I 2
R goE wreyn fafemt fae fee iy smre
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(c)

(d)
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Write any one importance of statistics in economics.
GRS 2 R @I @b 8% o |

SR ARRTRA @ P 90 SFF el |

T fafiremma aragaty smafasman 2t fw

Write one difference between census and sample
survey.

forer S Y1 WA IS 961 A1l A o

QAT G2 Y WA 0 G 1 el |

gd arat o ey siftefs s n‘mé HRT feR|

What is the full form of NSSO?

NSSO3 =9 (o1 & 2

NSSO-«3 = weifs § 2

NSSO-f 31 wga A?

Find out the arithmetic mean from the following data :

O OYPRA o1 SRS sfe fRefy v

fReTs BYPTR (X3 AfAfes s1s Ry

e ERERAHEE a2 R g
3,5,7,9, 11

State one advantage of median.

TR 901 R4 TeEy 90 |

NGIR GF16 TRy Sy FA! |

TSI A @Y 7G|
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9. Answer the following questions : 2x6=12
Teq ePTRY e fr
fafeiRe erqafem Tog ws -
TR e R @

(a) Write two characteristics of statistics. 2

RS 701 ¢S feirn 1.
AR 76 CIFIB CoTe |
HEYAA AR rgeng feri |
| Or / <1 / 41 / T
Define statistics in plural and singular sense. 1+1=2
R F 9T S AR e fa |
GFIEF qR 93T Y ARPRYE & 718 |
TSR R R Aferama amaE gwe™ 3

(b) Write two differences between primary data and
secondary data. ' 2

AT T SF (N S &I 761 AN fean |
AT B IR (N AR TG Yo AN @R
T @ik R AfY @R AR 79 R fer)

Or / 931 / {1/ T
Mention two sources of secondary data.
(MY SR Y51 TR N S 1 |
¢t ©e™ i BT AN SeE Il |
A @ty A% gty g |
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(c) What is bar diagram? State one feature of it. 1+1=2

we o & 2 o= 9O BT SeEy 41 |
we o7 2 97 9FH CAFE Scay I
Al SR 717 S A g W |

Or / 931 / 94 / &t

Define histogram and frequency polygon. 1+1=2

R’ o R3] qRpes e o
2R 43R IRIR! TIPSR TH WIS |
G SR AR TerTeten et SerEmi e

(d) Define arithmetic mean. Mention one property of the
arithmetic mean. 2

sfafes srex wige fran | anfafss sre o1 Cafer Soay <41 |
A sicea g wie | NfAfeT s o (A8 SrE ¢ |
TR R gEkaE 8 arERER R S g
i il

Or / @31 / W31 / Tl

Mention two main objects of an average.

ST 51 A4 S SeE 91 |
Sfced qf6 24 S SCAY T |
aERr (8)[ A e fauife 7w’ |

(e) Mention any two merits of mode. 2

Zere] R Cre 1o SRy Sead 1 |
I A CIICAT 6 R4 Ty Il |
ST SERasTar Bi9Y @1y 79’ |
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Or / S[1 / |71 / &1
Write two uses of index number.
6% FRYN o1 TR A< o
o AW 6 IR (=T |
iR SRR R TR R

Mention two importances of correlation.

SRR WOl QFF SCEY 91 |

STTFCEd 1o @ SrEy ¢ |

TRSAIA™ WHIRIE WA AR 7@ |
Or / 5331 / ¥31 / &1

What do you mean by index number of industrial

production?
ST SRR S A e 6 g 2
BT TR ST AN IS P (M 2

aRRrR fegens s geteen T SR

10. What is diagrammatic presentation?

usefulness and limitations of diagrammatic presentation

of data.
Bam Torgem 32 oY1 BaA TomeRe ToRel SF SRl Sewa

911

Discuss

the

1+3=4

A Torgrom F 2 SR BA BRI TopiRel @R Hiae! Sces-

<+

wramR R w7 @i R kg e s Rerfe
g |

/426
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Or / wi%aT / &% / e

Define variable. Distinguish between discrete and
continuous variable. 1+3=4

vored ik fuw | Rifew oo e iR veet e NSy (e |
5e1CRR el Wie | ffoza vere @3 wRiva seice Wy <N wfie |

A gHEE A1 e g9 Siensg R afEE amE S
FoRf wrr fif )

11. Define correlation. Mention the degrees of correlation.
1+3=4

STTERd A fall | SRTEes YarTgR 5
FDTICRI SIS WIS | HDTICHR rasfer ¢&edl |

TR RN JEE™ 8| TRsaEAE amm i (fen) -wre
fer|

Or / 9231 / 9T / TE1
Explain the meaning and importance of index number. 4
6% YR WY F IFeI R I 40 |
% R WY G QTR W I FAl |
EIR sfvmt i ot MRyt W Saa |
12. What is scatter diagram? Give any three merits of it.
1+3=4
Riffee B rafe &2 Ta" R @i fsfon sjfaer o1
fifee oF ~rafe F1? @3 @ @Al T R4 @
AR g qrEmiEn 117 afy srafasman gham g ol
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Or / 9331 / 941 / Tt

Find out the value of Karl Pearson’s coefficient of
correlation of the following : 4

TY BRI 2 {1 el PIeEan= SToram ges fefy w41
fafaiRs s (e el PrreTe semE g oy e
e WHEE e fraraaf MReemm gty amee &g

X 65 66 67 67 68 69 | 70 72

Y 67 68 65 68 72 72 69 71

Write short notes on : 2+2=4

12 o fera

S DIl CeTea

e &y fow -

(a) Consumer price index
TCSISd T TP
TSI 7 PP
ARRAT =8 IR

(b) Wholesale price index
2F 79 PR
IR 7 PIE
HIFHTN 8 IR .

Or / ST / TIT / TaT

Point out four impdrtant limitations of index numbers. 4
6T YT FIRGI HRPGIH Aol Sy T4 |

o I SR AT Hae! Sead Tl |

EIREY smfdmfy as M e 7@’ |
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14. What do you mean by central tendency? What are ‘Fhe
essentials of a good measure of central tendency? Explain.

1+5=6

@R eRToR W IfRE B qw 2 W (FER IO WeR ATHISARol-
T R am

@I 2RISR WW e R @AR? uq  (FEY  2RUeR NI
srasamerafE FF 2 I FE )

i Hr@ioTs getsen @1 gRE? T 1A i draiemg sk gt TR

1 HI? 9@ |

Or / S%31 / &34l / &1

Calculate the arithmetic mean, median and mode from the
following frequency distribution :

oot [l Il Remme #[1 sifafes s1e, J4 e q2er<e ~efq 341
FafiRe Irre Remm @@ fafes o, 309 3z 3263 [y 3

Wmﬁﬁmmm@aﬁw,ﬁwmw

gt
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Class Interval Frequency
CH1 ST RIS
T ST SERIE]
REIRICHKIC) TR
. 1-3 3
3-5 10
5-7 16
7-9 13
0-11 8
11-13 9
13-15 1
%* K &

2+2+2=6
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